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Part – A (5 X 2 = 10 Marks)

1. Give any two advantages of sparse index over dense index.
2. What can be done to reduce the occurrences of bucket overflows in a hash file organization?
3. Compare BCNF versus 3NF.
4. Explain the properties that must be satisfied by a transaction.
5. What is the use of locking?
Part – B ((1*8)+(2*16)=40 Marks)
6.   Explain in detail about two-phase locking.



            (8)

7.   What is normalization? Explain 1NF, 2NF, 3NF and BCNF with 
      simple example. 







(16)
     





                                         (OR)

8. (a) What is FD? Explain the role of FD in the process of normalization.       (8)

(b) Explain about dependency preservation and multi-valued 
      dependencies and 4NF. 






 (8)

9.   (a) Describe the structure of B+ tree and list the characteristics of a B+ tree  (8)

      (b) Compare static hashing and dynamic hashing.                                          (8)

                                        (OR)

10. (a) Explain the steps involved in query processing. How would you 
     estimate the cost of the query?      



           
      
 (8)
(b) Explain about the RAID levels.                                                       
 (8)
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